Name: Date:

Teacher: Class:

DAMSS502

What do you get when you put a turtle and a helicopter
together? A Shellacopter.

All four operations on one sheet

6.

1. 2. 3. 4. 5.
11)33 11)22 11)66 11)99 11) 44 11)55

710 8 12 9. 1 10. 5 11. 4 2. 11
x 11 x 11 x 11 x 11 x 11 x 11

138,752 4 7,058 > 8,211 16 8,235 1" 2,636 18 9,580
- 5611 -3,006 -8,111 - 4,114 - 1,125 - 9,520

194943 200 9,173 2t 2,732 2 1,830 % 5,831 2% 7,731
+ 3,063 + 1,224 + 1,167 + 5112 + 4,158 + 1,220

0.

5. 26. 27. 28. 29. 3
11)88 11)11 11)110 11)132 11)77 11)121

2

31. 3 32. 7 33. 8 34. 6 35. 9 36. 2
x 11 x 11 x 11 x 11 x 11 x 11

8. 3,176 %% 8,692 %% 1,518 4 22154 1,157 4> 3,020
-1134 -7401 -1316 -1,114 - 1,130 - 2,010

43 5579 44 51954 7,658 4 4,137 4 7,346 ¥ 1,542
+ 1,120 + 4602 + 2,231 + 2,850 + 2,443 + 6,037

© Facilitators Ferriswheel Score:



Answer Key Date:

Teacher: Class:

DAMSS502

What do you get when you put a turtle and a helicopter
together? A Shellacopter.

All four operations on one sheet

1. 3 2. 2 3. 6 4. 0 5. 4 6. 5
11)33 11)22 11)66 11)99 11)44 11)55
7. 10 8. 12 9. 1 10. 5 11. 4 2. 11
x 11 x 11 x 11 x 11 x 11 x 11
110 132 11 55 44 121

138,752 4 7,058 > 8,211 16 8,235 1" 2,636 18 9,580
- 5611 -3,006 -8,111 - 4,114 - 1,125 - 9,520

3,141 4,053 100 4,121 1,511 60

194943 200 9,173 2t 2,732 2 1,830 % 5,831 2% 7,731
+ 3,063 + 1,224 + 1,167 + 5112 + 4,158 + 1,220

7,996 10,397 3,899 6,942 9,989 8,951

25. 8 26. 1 27. 10 2s. 12 2o. 7 30. 11

11)88 11)11 11)110 11)132 11)77 11)121
31. 3 32. 7 33. 8 34. 6 35. 0 36. 2
x 11 x 11 x 11 x 11 x 11 x 11
33 77 88 66 99 22

8. 3,176 %% 8,692 %% 1,518 4 22154 1,157 4> 3,020
-1134 -7401 -1316 -1,114 - 1,130 - 2,010

2,042 1,291 202 1,101 27 1,010

43 5579 44 51954 7,658 4 4,137 4 7,346 ¥ 1,542
+ 1,120 + 4602 + 2,231 + 2,850 + 2,443 + 6,037

6,699 9,797 9,889 6,987 9,789 7,579

© Facilitators Ferriswheel Score:



